
A-A

A

A

 STICKER MAGNETIC FIELD 30mm1000.20027221

 STICKER PACEMAKER FORBID. D=301000.20020220

 STICKER ARTICLES FORBID D301000.20019219

 O-RING Ø225 x 6 SILICONE EC193578.1225600218

M10x30WASHER 3xd M10x30 - A270.9200004617

M10x30WASHER 3xd M10x30 - A470.8300010816

M10WASHER M10- A270.02000101615

M10NUT, HEX M10 - A260.0200010814

M10x35BOLT, HEX M10x35 - A250.1210035813

M10x30BOLT, HEX M10x30 - A250.1210030612

M10x25BOLT, HEX M10x25 - A250.1210025811

 BEARING IGLIDUR GFM-2023-1115.9000043410

 BEARING AXIAL IGUBAL SAM-2015.100402029

 NAME PLATE GOUDSMIT SFN200E011465618

 TYPE PLATE FILTER SFN_ _ _E008645337

 TOGGLE M12X100 316LM5487986

 TOGGLE BUSH D25x36 M12 316LM0511995

 BEARING BUSH IGUS SAM20M4535044

 HINGE DN150 304LM5486823

 FILTER TOP DN150 HINGE BPM7990722

 BODY DN150 HINGE WELDINGE011919611

DimensionsDESCRIPTIONPART NUMBERQTYITEM

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

E E

F F

18-7-2019

A2

CR

Description:

Date:

Drawn:

Extra info:

} All rights reserved. Reproduction is not permitted without
written permission of GOUDSMIT Magnetic Systems BV

ISO268; ISO1101; ISO2553

ISO 2768- mK

SFN-150-IF-02O-N-F1m-S-B-B-B

Sheet:

Drawn according:

General tolerance:

E0119190

Part number:

Spare part:

Weight (kg):

Document number:Quick search:

Status:

Customer reference number:

MAGNETIC FILTER

-

False

77

Standard

E0119191
FSN150

1

Quantity Material Number Material Description Length (mm)

RAW

MAT.

Width (mm)

Doc.Rev:

-

Rev:

Source:

DOC.NR. REV DATE BY DESCRIPTION

E0119191

-

18-7-2019 CR REFERENCE DRAWING SZFN000260

525

300

1
8

0

3
6

4

183

13

12 15

14

4

9

10

17

12

8

7

4
3

1

n168,3EN1092-1 DN150 ( )

n285

22n  (8x)

n240PCD 

2

2

,
5

°

3
3
6

2
2

2
2

3
6

0

`1

n168,3EN1092-1 DN150 ( )

n285

22n  (8x)

11665

19 21 20

2


